
String Quartet

Stefan Frenkel (1902-1979)

Violin I



Violin I

This work is licensed under a Creative Commons Attribution-NonCommercial-NoDerivatives 4.0 International License.

Transcribed by M.F. Tietz.  Edited by M.F. Tietz and Thomas A. Frenkel.  Metronome markings are editorial.

p dim.

Lento  q=56 *

pp mf

Allegro  q=1208

f f cresc.

17

ff mf

22

f

28

c

5

4

5

4
c

Stefan Frenkel

(1902-1979)    

String Quartet

 I

4

3



pp

33

cresc. f

39

dim. p

44

47

poco cresc.

50

p mf dim.

53

p pp

57

5

4

5

4

3

4
c

3

4

3

4

5

4
c

3

4
c

Violin I 3



p mf cresc.

63

mf dim.

68

p mp cresc.

72

ff dim.

78

82

pp p
pp p ppp

Meno mosso q = 100 rit. 86

p dim.

Lento  q=5692

pp mf

Allegro  q=120
99

f mf

108

c

5

4
c

5

4

5

4
c

2

4
c

c
5

4
c

3

4

5

4

5

4
c

3 2

Violin I4



pp p cresc.

114

f dim.

120

p

125

128

p

131

mf
f

IV
136

cresc.

140

dim. f cresc. ff

rit. 
143

5

4

c
3

4
c

c
3

4

5

4
c

3

4

c

Violin I 5



mp p

Adagio q = 501

p cresc.
pp

Poco stringendo6

p

11

cresc. mf

Stringendo Andante q = 64
19

f

25

dim. mf dim.

33

pp
f mf

43

3

4

5

4

II

3

3

Violin I6



pp

rit. Tempo Primo q = 50

50

p

54

mp cresc.
f

Più mosso61

cresc. ff poco a poco rit. dim.

67

pTempo I p

73

p cresc. pp

Poco stringendo79

mp

84

91

pp

95

5

4
c

3

4
c

3

4
c

c

3

4

c

IV

Violin I 7



ff mf

Allegro Scherzando q= 250
q=q q=q1

f

1.

q=q q=q
8

p

2.q=q 10

f p

q=q q=q q=q
11

mf mp

15

p

18

mf cresc.

23

f mf

29

cresc. ff

34

mf cresc.

q=q q=q42

f

48

C
3

4
C

3

4

3

4
C

3

4

3

2
C

C
3

4

3

4

3

2

3

2
C

3

4

3

2

3

2

C
3

4
C

3

4
C

C
3

4
C

3

4

3

2
C

3

4
C

C
3

4
C

3

4
C

3

4
C

3

4
C

C
3

4
C

3

2
C

2

III
$

2

Violin I8



p mf f dim.

rit. rit. 52

p

q=qMeno mosso q = 15058

f dim.

q=q Più mosso63

f

Andante q = 120 Stringendo rit. 69

p pp

A tempo76

poco a poco string.80

p f

Più mosso
85

pp

p cresc.

92

Stringendo q = 25097

f p pp

rit. Meno mosso154

C

3

2
C

3

4

C
3

4

C
3

4

3

2
C

3

4
C

3

2

3

2
C

3

4

C C

C
3

2
C

3

4

To Coda

3

2 pizz.

arco

D.S. al Coda

4 pizz.Ø
Coda

Violin I 9



f ff

Allegro q=160

1

7

f

13

mf

16

21

f

28

mp mp cresc.

34

ff dim.

40

mf cresc.

45

C
3

4

c
5

4

5

4
c

2

4
c

c

5

4
c

5

4
c

arco

IV

pizz.
arco

Violin I10



ff dim.

52

f f dim.

rit. A58

p

Meno mosso68

cresc.

75

p

82

espress.

mp

89

p

Poco crescendo96

f ff

StringendoB104

3

4

c

Violin I 11



f

Tempo primo q=160

109

113

p

Calando
118

p mp

Meno mossorit. 127

cresc.

136

f dim. p dim.

142

p

espress.

cresc. f

149

ff

154

mf cresc.

159

c

5

4
c

3

4
c

3

4
c

5

4
c

3

4
c

3

4
c

3

4

3

4
c

3

4

3

4

Violin I12



ff

Stringendo Tempo primo q=160

164

ff

170

f

176

mf

180

184

f

190

mf

196

f ff

202

mf

208

ff fff

rit. 
215

c
3

4

c

c
5

4
c

2

4
c

3

4
c

3

4

3

4
c

3

4

3

4
c

IV

Stringendo

pizz.

arco

3

Violin I 13


